H 12 S 5 4R 7 H 22 H
23 H
= Y RIFHET be— Yo h—8
mEEE B OHE W E R i
s A=y iRk EME
w5 =} R B
#®OoH E TWE
#® OB B T Rl
HMEZABE MR /SN i
2P E B YH OBEX
R S = Jilg #is
= % 1R AR RE
= % £ b % YN N )
& S W fR e
K 7 ¥ —
K #E R B35 Y53
B B MILEKT S v—WE
MmoA B
@
@

A

5

FE RIFRPABERETRS

7 7B =7y b=V

(1) =& 8:30

W B A 9:30

(A) B4 BEAG  9:30 WiHRE T#HRIZEKE

(FIGTHSL =F0 22k )
(RIGRZ 7 —7 v hAR— e &
(BIRRZ 7 —7 v FR— e hE2EEE)
(RIFRZ 7 —7 v hAR— L7 ) —EBE)

( EWEL PR
(BT B R
B A
( BWEL PR
(R T 7 TR Tk
(MR AT 7 E—A

XERE RE X

F

)
)
)
)
)
)

RIFFRTZ 7B —Wa AT 4 INEERITKE

K

E & &

(RGN = Fn 78 )

MR e T 7 e —HE

22 H (+)
DO 9:30  UEREE
® 10:00 YERE

23 H (H)
@ 9:30 HEHE
@ 10:00 TR




